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8x° — 7x% — 648x + 567 = 0

8x° — 12132 +510x— 432 =0

CHP—T2x=0

X =57+3x+9=0

50 + 6> —48x+32=0

X —5x> —48x+252 =0

X4+ 172 +91x+ 147=0

X+ 1027 + 24x = 0

X —5x> —36x+ 180 = 0

X — 1322 +31x+45=0
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8 — 7x> — 648x+ 567 =0

7
x=-,9,-9
8

8x° — 1212 +510x— 432 =0
9
8’

x:

8,6

CHP—T2x=0
x=28,-9,0

X =57+3x+9=0
x=3,3,-1

50 + 6xX° —48x+32=0

x:

Nl

, 4,2

X —5x> —48x+252 =0
x=6,-7,6

X4+ 172 +91x+ 147=0
x=-7,-7,-3

X+ 1027 + 24x = 0
x=—4,-6,0

X —5x> —36x+ 180 = 0
x=-6,6,5

X — 1322 +31x+45=0
x=-1,5,9
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